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Rank K % T B KA v MEEHK Rank K % i RA v MEEHK
1[5 B R K|EMEAF 1170 3 1|# B  fB|tetetete 680 4
2% & #|BEEERAF 900 1 2|F0 B &8 B|BELtAFET =R 640 3
3B B  fE|tetetete 820 4 3[R B W BlM b vE 500 3
| F  FHEREREKEFE 720 2 4B 4  To|BErAFET=RE 460 3
5l& & K|HBKRZFE 600 1 AT H B AN|A b7 & 460 3
6|A K #E|7evvr=zs57 450 4 6|0 & B B|srEriemstams 300 2
70 B & EB|ELAFT =R 400 2 NM=E ' KA bTrvE 220 2
8|& | &= H|srarr=27rri- 270 2 8 & E —|T E AMO0/40 210 4
9t B ml|AbFTVE 200 2 I A E BEXR|M T vE 200 1
9T|k #2  #L|TOY'S Tennis Lab 200 1 10|17 2 2 P|IEAIESK 190 3
IT|I& b WH|/7AvE72F=2 200 1 1118 & ZB|&RMTA 180 1
12|17 8 2 PREIESEFFR 190 3 12|/ & 1 #8| T E AMO/40 160 2
13|11 B  K[BFEF7=2257 180 2 13(#% = % 2| T E AMO0/40 130 4
14|F & % K|Re-Try Morioka 160 4 14(88 & M h|eseErxsmstmrs 120 1
ATIR & E|BREFE=EK 150 2 14Tk 2 2llrvarszzrrrs- 120 2
16|/ B R #Hfpurrrr=zs57 130 3 TR & EBEFEBZ=EK 120 2
1788 & 0 A[aesEmxsmstensn 120 1 14T[E R & sp|rvrr=xrnrrs- 120 2
17T|E Iy &F F|epzarvr=2s57 120 2 UT|+ M H Ba1brreE 120 1
19|88 & 1 B|REVAVT 80 1 UTIE B #HF—L7T7F 120 2
19T|E H #1 B|EFKFE 80 1 20|# I TE|TOY'S Tennis Lab 110 2
19T(# L £ BERRE=EK 80 1 20T|#& R #0 #&f|L.L.C 100 2
22|E  BE i TOY'S Tennis Lab 70 2 20TIBA # R M|zvv75=2s57 100 2
23|14 M B 2|7vvur=zss7 60 1 20TI R [ M@|=v#raqrasr=zs57 100 2
24| B ¥|L.L.C 50 3 24(3h 71 % HleaET=zs57 84 3
4TI/ B B K|7v475=2457 50 2 24T|&H b #0 #|dLLTC 80 1
24T( O B|IBRMIESEFTR 50 2 26| B H|&LETC 80 3
27111 || HE|mET =057 46 5 27|k D RBEB|7v¥75=24357 80 1
28|& I AN —|BRkDFRAGF 40 1 28|fa #B & K|Re-Try Morioka 80 2
28T|# H & A|WBET=Ro277 40 1 28T|# BB & A|WET=R077 80 1
28T|ZEERN B R|pwvvs57=2557 40 1 28T|m # % @|ovvrr=2s57 30 1
28T|B # R M|zvyr5=2s357 40 2 3| KA E/Philip TC 80 1
28T|F H |zasmsr-xkas 40 2 BITIN R R B|murs>yo7=2557 71 5
28T|® A il 2|EFFER 40 1 31T|8 K 2 Rlpwvarr7=2057 71 5
B s B KM brvE 30 1 3IT|FR B T E|zvrrarrrr=zs57 60 1
35|k @ K Zl|evararvarzasss 24 2 Kl L T N E e e VR TS 60 2
36| I F[rrarFozrari- 22 2 36| £ 4 E|eABTFZRIST 60 1
7MTH F—|EFerTIzs57 20 1 36T|A #F 18 & BB[TOY'S Tennis Lab 50 1
3T H BEEALLE 20 1 38|AK A B O EMEEESR 50 1
37T)EFE L M #E|FdkLTC 20 1 38T & B Z|rrrvs—vr=2s57 50 1
37T B B A[M b E 20 1 38T|R [l REELTAFETZZE 46 2




(—BEF> > ILR]) 2/2 [—BEFLTILZR] 2/3
Rank | K % B RA v b EHEHK Rank | K % B A v b EAEHK
4110 BB K R|BHEIESEFRK 14 2 A1|H F 3 2 |[REET=XHs 40 1
AT|H B R B|BEEIESEER 14 2 ANTIEEBB F—|571> k77222057 40 1
43|k F & BL|7v¥7r=zo57 10 1 41TIE B |7 995722057 40 1
43T|H O k& £|5FERKZ 10 1 A1T|E BE E (B|eFEArEAERS 40 1
43T|T ZE IE #2|kiss shot 10 1 ATIH R I BE|5FERKZE 40 1
A3T|78 & B S| E5FERKRTFE 10 1 41T(% B BlEEZFSVESEEK 40 1
43T|pE 2 %5 2| T E AMO0/40 10 1 ATIN £ 8L FEfvsoezs=zrnrz- 40 1
43T|E H X fE|EETC 10 1 43(FC # FE K|-w575-nr=2s57 30 2
9|5 B K WlEaT=2077 8 1 A8T|E I F FH|eprarvr=2s57 30 1
49T B A 18 HE|EEIESEFER 8 2 50| H &= A|&—IXATC 26 2
49T | B 18 BB IZEeEPR 8 2 SOT (R 2F % B|EMIESEFFK 26 2
5206 &% HEA|TTA Y RETTC 6 1 50T|K & # t|LAIFTC 26 2
52T|& B B A|BRAIESHEFRK 6 2 0T+ M =|mtiesmdmr=-2ia 26 2
52T|2% B ¥ Bilgtn-—>7-2s57 6 1 50Tk O B|EMIESK 26 2
52T|F % # =2|TE AMO/40 6 1 55(fF b Bt B|dtETC 20 1
B2T|F ¥ IE M|EHT=RI77 6 1 B5T|B i F|-merr-nr=zs57 20 2
52T|# 1L 8 BldbETC 6 1 55T|/N #h & X|BMNTT =R 20 1
52T|2% B & Z|d LTAY 2 =7 6 1 55T|iE B K|gzerr=2s357 20 1
B2T|M 1L ¥ | BEBE—5%ERK 6 1 55T|F % IE fi2|kiss shot 20 1
60|k & #H W& AIXTC 4 1 55T|E H E B|&FERXTF 20 1
0TI & ZE|5FERKZFE 4 1 5T R RN T = R 20 1
60T|% # = H|EFERKTF 4 1 55T|Fa #F Bl BE|5FERKE 20 1
60T |f#£ 4 A 2 B B FERIAZ 4 1 63|%& & Bt A|MTC 16 2
60T|E %= f& BA|7vv77=2s57 4 1 64| £ | AMETRT=2H 14 2
60T|TT B  A|EFERXZF 4 1 6511 A7 K BB TEEK 12 2
60T|HE & i B|EsFERKZF 4 1 65T|3h B A A|BEIXSK 12 2
60T|E H B B|aFERKZE 4 1 65T A& & H|BEHITESK 12 2
60T|H & & F|EFERKTF 4 1 65T |2 B 1B S| B TESK 12 2
60T (% ith 2 % BBV hLH > TC 4 1 69|35 b B E|—BT T A -7 11 2
708 4 | FE(7¥¥TIr=zs57 2 1 6OTIBE R # Z|Z7 v bERT Y 11 2
70T|# T % #A|L.L.C 2 1 TEAN BR|FTRLT 4 773 10 1
T0T|#E R % AU by TC 2 1 71T|% B K BB[dLETC 10 1
IEIES: =4 P e T 1 1 71T B & £|—BI 74— 10 1
73T|B9 # — #M|gta-—>7=2s77 1 1 TAIHE Ay R 2| 7YY T TR 6 1
TAT|F E % E|ERIESK 6 1

TAT|FB 7B | B R TE SR 6 1

AT Kk — 8| R I ESK 6 1

74T (3% 5 | REITESKR 6 1

TATIET & }|BEEIESKR 6 1

TAT |t 4 AR 2 | B R TE SR 6 1
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Rank | K % B RA v b EHEHK Rank | K % B A v b EAEHK
11E 4 K HB|ERXZ 1540 2 1|Wm B = F[F SA 260 2
21 B E H|REKRFE 1050 2 1Tk & BEEA Moz 260 1
3| B E F|FSA 620 2 1IT[*F B £ H|@EKRFE 260 1
an = ¥ BlZ7A4A KT 520 2 1Tk & 8 FA LTV E 260 1
5|5 & & F|HAKEAF 400 1 5|11 & # Zls71vrr7=2057 40 1
6|F B % |WETF=Rs77 120 2 5T|1H2 & = ®H|TEET U —> 40 1

6T I 4T &F|7 LA ILTA 120 1 5T E O A Y [BEAEEYESR 40 1
8|E/R B RE|ELKRE 80 1 5T|/ JI| EZ F|TOY'S Tennis Lab 40 1
8T|% # & FldLTC 80 1 9| =, FE Fls71vrr7=z2s57 20 1
10(=ZEm HZ|V by TC 40 1 TR ZEEFls71v k7722057 20 1
11|/ Il £ #[fEsSitaERKR 20 1 11{F 3 & & 10 1
TR )BT &Y by TC 20 1 11Tk = # F|dLETC 10 1
13|83 £ B K|&ETAY2=7 10 1 1T|HE B AEF|7vv75=2457 10 2
13T|8R # & R|TEELSFEFR 10 1 11T|# & B8 F[ToY'S Tennis Lab 10 1
13T|E b 8k ZE[EELLSEER 10 1 11T|# (i BF Z£|TOY'S Tennis Lab 10 1
16| JIl © #|fEElER 6 1

16T| ki #k FE|EESIEK 6 1

16T & 54 F|feE7 ) —v 6 1

19|F # F BE[SHTC 4 1

19T|#E B %= E|SHTC 4 1

9T|EEmBZE|U LY TC 4 1

19T|BEFH D H|ILETC 4 1

9T E|Y bLH > TC 4 1

19T|& B B Flzvvv7=2s357 4 1

25| T AN|BEEALLER 1 1

25T |1 4 R 0 B | B TE SR 1 1

25T|H O M K|EMIESK 1 1

25T F# & | EEdER 1 1




